KDYBY (Conditional „kdyby – clauses“ )
USE
A condition is something that has to be fulfilled before something else can happen.
↓
Mám práci (= condition), a tak mám peníze. → talking about a real situation in the present, NOW
Měl jsem práci (= condition), a tak jsem měl peníze. → talking about a real situation in the past, THEN
↓
Kdybych neměl práci (= the condition), neměl bych peníze. → talking about an imagined situation NOW or THEN 
→ provided/on the condition I didn´have a job, I wouldn´t have money. (However I have/had a job, so I have/had money.)
 
Observe:
1) The same subject in both clauses
Kdybych měl peníze, koupil bych si auto. (JÁ in both clauses)
Kdybys nestudovala v Brně, co bys dělala? (TY in both clauses)
Kdybyste pracoval v nemocnici v Brně, bydlel byste daleko od rodiny. (VY = formal in both clauses)
2) A different subject in both clauses
Kdyby bylo dneska hezky (=to), šli bychom (= my) na výlet.
Kdybyste mi řekli (= vy), kde je muzeum, počkal bych (já) tam na vás.
Kdyby moji přátelé přijeli (= oni)do Brna, ukázal bych (= já) jim Špilberk. 
Kdyby mi pomohli (= oni), dokončila bych (= já) práci včas.
Clause order
Kdybych měl peníze, koupil bych si auto.
Koupil bych si auto, kdybych měl peníze.
Co bys dělala, kdybys nestudovala v Brně? 
Kdybys nestudovala v Brně, co bys dělala?
……



FORM
How „kdyby-clauses“ are formed:
You need:
For the clause 1:  KDYBY in the correct form (which is based on someone/something = the subject of the sentence, f. ex. JÁ, VY, PETR, MARINA, POČASÍ…) 
+ 
- L form of the verb (so called „past tense“,can be –L/ -LA/ - LO /-LI) → KDYBYCH (já) MĚL PENÍZE,
For the clause 2:  BYCH in the correct form (the form is based on the subject of the sentence)
+ 
- L form of the verb (so called „past tense“, can be –L/ -LA/ - LO /-LI)→ KOUPIL BYCH SI AUTO 
	
	Clause 1
	comma
	Clause 2

	Já
	Kdybych pracoval, pracovala
	



            ,
	měl, měla bych

	Ty
	Kdybys pracoval, pracovala
	
	měl, měla bys

	On, ona
	Kdyby pracoval, pracovala
	
	měl, měla by

	my
	Kdybychom pracovali
	
	měli bychom

	Vy 
	Kdybyste pracovali 
or formal: kdybyste pracoval/a
	
	měli byste

	Oni 
	Kdyby pracovali
	
	měli by



Word order in clauses
„KDYBY“ always starts the clause, it is either the first word in the clause 1 = it is placed in the 1st position, or the first word after comma, again placed in the first position, see the examples again:
Kdybych (1) měl peníze, koupil bych si auto.
Koupil bych si auto, kdybych (1) měl peníze.
The word order in the clause 2:
–L form („the past tense“ verb) is placed in the first position, in the second position must be placed BYCH, BYS…..:
....., nekoupil BYCH (2) si auto.
KDYBY x JESTLI
Conditional sentences, as explained above, refer to the present = NOW or the past = THEN. If we use the future tense in sentence, we do not use KDYBY, ... to join the sentences but the linking word JESTLI.
Kdyby Petrovi bylo špatně, nešel by do školy. (dneska, včera).
Jestli Petrovi bude špatně, nepůjde do školy. (zítra)

